ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE

EXAMS
Trade Name: Electronic Mechanic
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)

3. There is no negative marking

Max Marks :

100

No.. QID Question Body and Alternatives

TRADE THEORY

1 What is the other name called for single - strand wire?

RATA-RRS aRR BT GERT A 1 §?

Al : Stay wire
AR

A2 : Hook-up wire
BP-3U IR

A3 : Winding wire
IREFETIRR

A4 : Multi-strand wire
dRR

./ TRADE THEORY

2 In central part of an atom is called ...........

T WRATY] & [e YT H gl ST ge.....

Al : Electrons

=

A2 : Nucleus

A3 _iProtons

A4 : Neutrons

Cll

TRADE THEORY

3 What is the basic unit of measuring resistance value?

URRIY W WIS B 3bTS T 8

Al : Ohm

il

A2 : Kilo ohm

[EIRI

A3 : Henry

|
Marks

1.0

Negative
Marks

0.00




4

5

6

7

A4 : Hertz

TRADE THEORY

Which colour represents the number 5 in colour coding of carbon resistors? 1.0 0.00
HTe UfcRIdt & 1 HifET H AR 5 o 71 1 g F=ar g1

Al : Black
pIdl

A2 : Orange

A3 : Green
0

A4 : Gold
e

TRADE THEORY

Al : Resistor

A2 : Capacitor

A3 : Inductor
EREESES

A4 : Conductor
HhIIR

TRADE THEORY

Al : Conductor
HeIc}

A2 : Inductor

A3 : Resistor

A4 : Insulator

TRADE THEORY

In which values AC current and voltages usually specified? 1.0 0.00

AR W AC B 3R dice &) fvd 7 & sy fpar srar 21

Al : Peak to peak values

e § fies &1 9H

A2 : Instantaneous value
HH




10

11

10

11

A3 : Peak value only

FHad die 7

A4 : RMS values
SR THTH HHE

Al : Electrical energy in to mechanical energy

Ti® SHont A faggd Soit

A2 : Mechanical energy in to electrical energy

fagga St 3 Tifie St

A3 : Chemical energy in to electrical energy

fagga St @ ImfE St

A4 : Electrical energy into light energy
UDRI Sl

3

What is the AC mains supply frequency in India?

URA H AC T30 B! SYfd B amafd | 8|

Al :40 Hz
40 Hz

A2:50Hz
50 Hz

A3:60Hz
60 Hz

A4:110 Hz
110 Hz

What is the name of the semiconductorinfts pureform?

3T Y& U H fefqIees P A 3|

Al : Intrinsic Semiconductor

X

A2% Extrinsic Semiconductor

<

A3 : Crystal Semiconductor

A4 : Diffused Semiconductor

TRADE THEORY

TRADE THEORY

TRADE THEORY

TRADE THEORY

Which is the minority charge carriers in N-type semiconductor?

T-eTEY ST § SHeUdeid UHR a5 S ¢ |

Al : Holes

A2 : Electrons

0.00

0.00
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14

13

14

A3 : Both holes and electrons

! g T Setae

A4 : Protons

TRADE THEORY
Which of the following diode is used for voltage regulation? 1.0 0.00

diee o & fore Fafafed § 3 foyg saie o1 Sua fear S g |

Al : Rectifier diode

A2 : Signal diode

A3 : Varicap diode

A4 : Zener diode

TRADE THEORY

The connection of a zener diode in a circuit is always .................... 1.0 0.00

e gfdhe H SR SIS BT SR GHTM. ... gl

Al : In series
i o

A2 : Forward biased

3T B o=

A3 : Reverse biased

faoRia fe=m &

A4 : Positively biased
Ty FTH

TRADE THEORY

The rectifier is used to€onvert .....54.............. 1.0 0.00

TNeH BT ITANT .. B FUTART P P T fpar s 1

Al : AC 6'BC
AC¥DC

A2 : DCAo AC
DCYAC

A3 : Pulsating current in to alternating current

Frafid i o faggd uRT %1 vt

A4 : Direct current in to unidirectional current

TR PIC Bl (ARG e T yared Hl

TRADE THEORY
SWG stands for............... 1.0 0.00

SWG BT HTAT G e

A1l : Solenoid Wire Gauge
Solenoid Wire Gauge




16

17

19

16

17

19

A2 : Standard Wire Gauge
Standard Wire Gauge

A3 : Standard Wound Gauge
Standard Wound Gauge

A4 : Solenoid Wound Gauge
Solenoid Wound Gauge

TRADE THEORY

Which circuit is called emitter follower?

5y fhe o) Tfier BIAISR H8T Jdl 82

Al : Common Base Amplifier
IR

A2 : Common collector Amplifier

v

PHIHT AT

A3 : Common Emitter Amplifier

P THICR TRABIEAR

A4 : Pre Amplifier

TRADE THEORY

Which type of package is used for power transistors?

TR TifoReR & o b s YR & Yobel T SUGNT e ST 711

Al : Metal

g

A2 : Plastic

A3 : Ceramic

i gt

A4 : Glass
CaE]

TRADE THEORY

Al': Positive feedback
THRITD Fldep

A2 : Negative feedback
TPRIHD

A3 : Current feedback

fagga ur ufafeean

A4 : Voltage feedback
farqgd a9 ufdfharn

TRADE THEORY

How many stable states are in astable Multivibrator?

T Acciargaer | fhd! Trae Sa=Td gl 81

Al : One stable state

T WId LT
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21

22

23

20

21

22

23

A2 : Two stable state

ARITRC

A3 : No stable state

P I ®e Tal

A4 : Infinite
3HAd

Relaxation oscillator is known as ...............

ReAGRI=H SR P ... BRI

Al : Harmonic oscillator

A2 : Sine wave oscillator

A3 : Non sinusoidal
BIGH

A4 : Tickler - coil oscillator

feaar wisq SR

Which is a trigger device?

R Ragg s a e

Al : TRAIC
TRAIC

A2 :DIAC
DIAC

A3 :SCR
SCR

A4 : FET

Which material is u;ea to ;ake a SCR?

SCR S fre forg gl o1 S fvar S 21

Al : Germanium

A2 : Carbon

A3 : Silicon

A4 : Bismuth

oy

TRADE THEORY

TRADE THEORY o~

TRADE THEORY

TRADE THEORY

0.00
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25

26

27

24

25

26

27

Al : Grinders
PIERL

A2 : Generator

SRR A

A3 : Refrigerators

A4 : Fans

o o

TRADE THEORY

How many PN junctions are in a SCR?

T SCR H fban PN SaRF 810 B

Al : One
Th

A2 : Two

A3 : Three

A4 : Four
IR

TRADE THEQRY',

What are the terminals in UJT?

uIT # efifaw wn gl

A1l : Emitter, Base and collector

TfeR, 39 3R Hade

A2 : Emitter, Base 1 and Base 2

THieR 39 1 AR IT 2

A3 :MTI1, MT2 and collector

MT1, MT2 3R Hadel

A4 : Base, emitter and shield

99, TfeR SR Sfice

TRADE THEORY

What is theiexipansion of MOSFET?

MOSFET/&T fa&R A g1

Al : Metal - Oriented Semiconductor Field Effect Transistor
Metal - Oriented Semiconductor Field Effect Transistor

A2 : Metal - Oxide Specific Field Effect Transistor
Metal - Oxide Specific Field Effect Transistor

A3 : Metal - Oxide Silicon Field Effect Transistor
Metal - Oxide Silicon Field Effect Transistor

A4 : Metal - Oxide Semiconductor Field Effect Transistor
Metal - Oxide Semiconductor Field Effect Transistor

TRADE THEORY

Diacisa ....

0.00
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29

30

31

28

29

30

31

Al : Unidirectional switch

s o= fReg

A2 : Bidirectional switch

fefew =

A3 : Un polar device
YK YdId FUBRU

A4 : Unijunction device

SR SIREBUT

TRADE THEORY

What is an other name of photo Resistor? 1.0

I ITRER BT ERT 9 T 37

A1l : Light Dependant Resistors
SIEE

A2 : Voltage Dependant Resistors

A3 : Positive - Temperature Co - efficient Resistor

A4 : Negative - Temperature Co - efficient Resistor
ADHRIHD dTUHT U R[GTRER

TRADE THEQRY
The term PCB stands for ........ 1.0

3af pcB H R ESTR ........

Al : Polythene card board
Polythene card board

A2 : Polystyrene circuit board
Polystyrene circuit board

A3 : Printed circuit board
Printed circuit board

A4 : Practical circuit board
Practical circuit board

A V TRADE THEORY

Whﬁ the Ease of octal number? 1.0

3 AT BT YR T 82

A3:10
10

A4:16
16

TRADE THEORY
What is the 1s complement of 0110? 1.0

0.00
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33

34

32

33

34

0110 BT 1 TR T 82

A1 :1000
1000

A2:1001
1001

A3:1010
1010

A4:1011
1011

What are the inputs of EX-OR gate when output is high?

3T3eYE 3fF §H TR EX-OR & AYE T gl

Al : High
3

A2 : Low
DH

A3 : Different
faft=

A4 : Same

Identify the TTL NAND gate IC.

TTL NAND gate IC &1 UgdH $x |

Al : 7400
7400

A2 :7402
7402

A3:7432
7432

A4 :4000
4000

What'is an other name of flip — flop?

fORTY- TR BT T AT T B2

Al : Full adder
AT

A2 : Full subtractor

Pl WeaR

A3 : Bistable Multivibrator

A4 : Multiplexer

TRADE THEORY

TRADETHEORY.

TRADE THEORY

TRADE THEORY
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36

37

38

35

36

37

38

What is used in counters to measure time?

G AR F 1T HigeR) & oar Iy fbar S g9

Al : Second
A2 : Minute

A3 : Hour
Yl

A4 : Clock pulse
TS Bl W

TRADE THEORY

What is the name called for the time required to complete one cycle?

T b B IR B & T SI2UD JHY &) 1 gl Sl 2|

Al : Period
A2 : Frequency
A3 : Alternation

A4 : Phase angle
LA

_ARADETHEORY

What is the specification of current rating of a battery?

S B adHH T BT AR foa=or = 82

Al : Ampere — hour (Ah)
Ampere — hour (Ah)

A2 : Ampere(A)
Ampere(A)

A3 : Coulombs
Coulombs

A4 : Volt/Amp(V/A)
VoltyAmp(V/A)

TRADE THEORY

Which of the following capacitors is polarized?

T & § o $oHeR ydipd 82

Al : Mica
HYD

A2 : Ceramic

e et

A3 : Plastic — film

A4 : Electrolytic

X

0.00
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40

41

42

39

40

41

42

Which material is used in between commutator segment?

TRADE THEORY

FREC GUS! & st g qrlt o1 Suai faar S 82

Al : Cloth
DUl

A2 : Paper

A3 : Mica
HYh

A4 : Varnish

Al : Transistor

X

A2 : DIAC
Slemgudt

A3 : Diode

A4 :UIT

=

A1:0,0
0,0

A2:2,1
2,1

A40272
2,2

Which of the following is an NAND gate?

NAND e Fuff@d d s arg|

—1 -

Al

A2

TRADE THEORY

. TRADETHEORY

TRADE THEORY

0.00
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44

45

46

43

44

45

46

A3

A4

TRADE THEORY

Which of the following is a unipolar device?

Frafifed & A @1 1 Ueb YRy Iuehul

Al :BJT
BJT

A2 :IGBT
IGBT

A3 : TRIAC
TRIAC

A4 : MOSFET
MOSFET

TRADE THEORY

Al : Pulse wave form
U 39 B

A2 : Saw tooth wave form
BRI

A3 : Sinusoidal wave form
Ja B

A4 : Triangle wave form

CISWTA 49 BiY

TRADE THEORY

BCD of decimal ;8 S,

28T BCD G .......... 2l

A1:0010 1001
0010 1001

A2:1001 0001
1001 0001

A3:0001 1100
0001 1100

A4:0010 1000
0010 1000

TRADE THEORY

Colour codes used in 22 ohms 10% resistor willbe .................

22 ohms H IUTNT fT SIF aTd 10% UfeRIY T R HIS TGN

0.00
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48

49

50

47

48

49

50

Al : Red, Red, Brown, Silver

A2 : Red, Red, Black, Silver

A3 : Red, Red, Black, Gold

A4 : Red, Red, Brown, Gold

FET is a...........
FETU® .......... gl

Al : Current controlled device

fagga fFafa feargw

A2 : Voltage controlled device

A3 : Power controlled device
IR ifd

A4 : Sensor controlled device

IR Ffaa fearsg

A2 :DC
DC

A3 : AC & DC both

AC 3R DC a1

A4 : Pulsating DC
DC

Whichuis thelight sensitive sensors?

UHTY Gdae TR B 1 82

Al :LDR
LDR

A2 :RTD
RTD

A3 : VDR
VDR

A4 :SCR
SCR

Which IC number contains NOT gate?

by amg T R § NOT e R BId1 82

TRADE THEORY

TRADE THEGRY',

TRADE THEORY

TRADE THEORY

0.00
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54

51

52

53

54

Al : 7400
7400

A2 :7402
7402

A3 : 7404
7404

A4 : 7408
7408

TRADE THEORY

What type of flip flops are used to construct registers?

IR} & AT & e ford U R & Oy weiTa &1 I fhar Sirar &

Al : RS flip flops
RS faU wam

A2 : JK flip flops
JK fihay warg

A3 : Clocked flip flops
Fellps ey Baly

A4 : JK master slave flip flops
JK AR ®iq HaY

TRADE THEORY

Which diodes are used in seven segment display?

5T STTe o1 IUUNT 1 WUS! b UeRfd &34 & e fbgr siarg |

Al : Zener
Zener

A2:LED
LED

A3 :LASER
LASER

A4 : Schottky
Schottky

TRADE THEORY

Which'device does not have the gate terminal?

5T JueRy H e fifqa el 72

Al : TRIAC
TRIAC

A2 :FET
FET

A3 :SCR
SCR

A4 :DIAC
DIAC

TRADE THEORY
The terminals of a power MOSFET are called ............

TTdR MOSFET fHe .......... FHEA B

0.00

0.00
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56

57

58

55

56

57

58

A1l : Emitter, base, collector

THeR, 39 Hadex

A2 : Source, gate, drain

ESIGKICRIK|

A3 : Source, base, drain

I, YR, ATeh

A4 : Emitter, gate, drain

TeR, e, e

A permanent magnet moving coil instrument will read

e Wl TfoRid TEaH g S USRI .............

A1l : Only AC Parameters
PId AC

A2 : Only DC Parameters
$ad DC

A3 : AC and DC Parameters
AC 3R DC

A4 : Pulsating Parameters

What is the expansion of PMMC?

PMMC T fO&IR ST 8|

Al : Permanent Magnet Meter Coil
Permanent Magnet Meter Coil

A2 : Polarized Magnet Meter Coil
Polarized Magnet Meter Coil

A3 : Permanent Magnet Moying Coil
Permanent Magnet Moving Coil

A4 : Permanent Magnet Measuring Coil
Permanent Magnet Measuring Coil

TRADE THEORY

BT ST PRAT S|

TRADE THEQRY

TRADE THEORY

The founeolourband of a resistor are yellow — violet- orange — gold. The value of resistor should be

T T8 F UfeRIY® IR T F § el SR8 8 1 9 3aRIY® STAM ......... gATEIRT |

Al : 470 ohms £ 5%

470 309 + 5 Ufa=rd

A2 : 47 kilo ohms + 5%
47fFar 3 + 5 wfa=a

A3 : 47 mega ohms + 5%

47 AATTGTe + 5 Ufawd

A4 : 4700 ohms + 10%
+ 10 Tfa=rd 4700 3fH

How many terminals are available in DIAC?

TRADE THEORY

0.00
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60

61

59

60

61

DIAC ¥ fa efifera Suasy 2|

TRADE THEORY

What is the unit of measurement of frequency?

TgRI F WO B SHTS T 3 |

Al : Volts
A2 : Ampere
A3 : Hertz

A4 : Coulomb

B

TRADETHEORY.

What is the name of the material with four valence electrons?

IR YOI e aTel ueT &1 A1 3|

Al : Conductor
HgdR

A2 : Insulator
A3 : Semiconductor

A4 : Super conductor

IR HeIR

TRADE THEORY

What is the other name of inverter gate?

$qeR 7T BT ORI H FT 37

Al : AND gate
s

A2 : OR gate

IR e

A3 :NOR gate
IR A

A4 : NOT gate
BRI

TRADE THEORY




In a PNP transistor. N region is called .............

T PNP TSR AN @ ... PRI R

Al : Collector
A2 : Emitter
A3 : Base

Ajt : Body

TRADE THEORY

Al : Positive feedback
HHRIAD Ufdsh

A2 : Negative feedback
ATHRIHD

A3 : Current feedback

Fc frs 9@

A4 : Voltage feedback
e Ay fhs

_ARADETHEORY

What is the name of removing solder from a joint?

Sl Y ey 3 gem BT TH AR

Al : Soldering

A2 : Brazing
<Dl

A3 : De-soldering
Sicie

A4 : Tinning

TRADE THEORY

Which one is not an insulator?

B 91 U fadarge el 87

Al : Plastic

A2 : Rubber
IR

A3 : Silicon

A4 : Porcelain

=it et
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69

66

67

68

69

TRADE THEORY

Which process is used to add impurity to a pure semiconductor?

T3 vifgran & IuiT gRT 31 Yaraes H gl Ue T B STl

Al : Diffusion
A2 : Forming
BRIET

A3 : Etching
A4 : Doping

TRADE THEORY

Which standard digits used in octal system?

3fTaed Yol § forg A 3ie T SUAIT faa Sirar 82

Al:0and 1
031

A2:0to7

097

A3:0to9

0¥9

A4:0to 10
0910

. TRADE THEORY

The number of depletion regions in a bipolar transistonare 4...............

e foggfdTa TTforer & wifdaemRur &5 & el BIS................ 2l

Al : One
Th

A2 : Two

aq

A3 : Three
A4 : Four

TRADE THEORY

A Diode can also act as a .......c.cccceeuenene

TS .. FETH B PR ThdI gl

Al : Switch

A2 : Fuse
Wy

A3 : Inductor

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00
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71

72

73

70

71

72

73

A4 : Relay

TRADE THEORY

What is the unit of measurement of current?

PHIC P WU P SIS AT 82

Al : Volt
dlec

A2 : Ampere

A3 : Coulomb
D

A4 : Hertz

TRADE THEORY
What is the expansion of T.T.L?

T.T.L & SR e g2

Al : Tuned Transistor Logic
Tuned Transistor Logic

A2 : Transistor - Transistor Logic
Transistor - Transistor Logic

A3 : Temporary Transistor Logic
Temporary Transistor Logic

A4 : Transistor Temperature Logic
Transistor Temperature Logic

“TRADE THEORY
What is the full form of the LCD?

LCD &1 QRT 19 &1 §?

Al : Liquid Common Display:
Liquid Common Display

A2 : Liquid Crystal Display’
Liquid Crystal Display:

A3 Tiquid Comparator Display
Liquid.Comparator Display

A4 : Liquid Cathode Display
Liquid Cathode Display

TRADE THEORY

Which is used to construct a counter?

Ted g9 & e fegeT Iy forar Sirar g2

Al : AND gate
AND 7€

A2 : OR gate
OR T

A3 : NAND gate
NAND ¢

0.00
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75

76

77

74

75

76

77

A4 : Flip flop

TRADE THEORY

What is the unit of inductance?

TSR P SHE A2

Al : Coulomb

B

A2 : Farad

A3 : Henry

A4 : Ohm

TRADE THEORY

The number of valence electrons of a semiconductor element is ........

31ef FaTeTeh e W fFIHRUN ST B G .......... 2l

A4:10
10

NUMERICAL ABILITY AND REASONING
What is the value of 135 times 247 ?

135 x 247 DT HM FT 82

Al:33345
33345

A2 :34345
34345

A3,:35345
35345

A4 136345
36345

NUMERICAL ABILITY AND REASONING
What is the value of 30% of 600 + 70% of 400?

600 T 30% + 400 HT 70% BT T IATZ?

Al:360
360

A2 : 460
460

A3:560
560

0.00

0.00
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79

80

81

78

79

80

81

A4 : 660
660

NUMERICAL ABILITY AND REASONING
What is the value of X, if 966/x =193.2 7

3R 966/x = 193.2 A X BT HH 133

NUMERICAL ABILITY AND REASONING
What is the value of 378+ 7/ 0.7 ?

378+ 7/ 0.7 BT HH IdT33:;

Al:71.14
71.14

A2:73.14
73.14

A3:75.14
75.14

A4:77.14
77.14

__— NUK_/IE_RITCAL ABILITY AND REASONING

What is the value of V1521 + 312

V1521 + 31 &1 HH Id183:

Al:50
50

A2:60
60

A3:70

A4 : 80
80

NUMERICAL ABILITY AND REASONING
What is the value of 15% of 550 + 45% of 440?

550 BT 15%+ 440 DT 45 % DT HIT I 37

Al:280.5
280.5

A2:2825
282.5

A3:284.5
284.5

0.00
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83

84

85

82

83

84

85

A4 :286.5
286.5

NUMERICAL ABILITY AND REASONING

What is shafi income, If he spends 60% of salary for his family, 15% for his children, 15% for other expenses and remaining amount | 1.0
of a Rs 6,000 is saved?

SR T 3T TRSATE BT 60% 3T TRAR W, 15% T T W, 15% T8 Tl IR TUT A § 6,000/- T §9d BT 2 Y
I Pl dReATE T3 -

Al :Rs 55,000
55,000 .

A2 : Rs 60,000
60,000 .

A3 : Rs 65,000
65,000 . y

A4 : Rs 70,000
70,000 2.

NUMERICAL ABILITY AND REASONING y
What is the value of (3m + 5n) - (5m - 6n)? 1.0

(3m + 5n) - (5m - 6n) BT A FT G2

Al:2m-11n
2m- lln
A2:2m+ 1ln
2m+ 11n
A3:-2m+ 1ln
-2m+ 1ln
A4:-2m- 1ln
-2m- 11n

NiUMERlCAL ABILITY AND REASONING

What is the area of rectangle in cm?, If breddth of the rectangle is 7 cm and length is twice the breadth of the rectangle?

IR fardt Smd Y SR P em TN TS, TSTS B AT § Al AT BT &THA om? TAZA?

Al : 96 cm?
96 cm?

A2 97 cm?
97>

A3 : 98 cm?
98 cm?

A4 : 99 cm?
99 cm?

NUMERICAL ABILITY AND REASONING

How much 8 turners earn, If 6 turners earn Rs 300? 1.0

IR 6 TR 300 T, HHIA & Al § TR fp=T HHTG:

Al:Rs 325
3257%.

0.00
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87

88

89

86

87

88

89

A2 :Rs 350
350°%.

A3 :Rs 400
400%.

A4 : Rs 450
450°%.

NUMERICAL ABILITY AND REASONING
How long will 6 similar pumps take to fill this tank,If 3 pumps take 27 minutes to fill up a tank?

3R 3 T T &b bl R 7 27 fiFie A § 6 77 It & 1 WRA H fobam ovg ot

Al : 9 minutes
9 fore

A2 : 12 minutes
12 e

A3 : 15 minutes
15

A4 : 18 minutes

18 fire

NUMERICAL ABILITY AND REASONING
What is the value of 3x (4x -2y +5)?

3x (4x -2y +5) BT A T 32

Al:12x2+ 6xy -15x
12x% + 6xy -15x

A2:12x2 - 6xy + 15%
12x2 - 6xy + 15x

A3 :-12x% - 6xy - 15x
-12x2% - 6xy - 15x

A4 :-12x2 + 6xy + 15x
-12x2 + 6xy + 15x

NUMERICAL ABILITY AND REASONING

How much amount weuld each person get, If an amount of Rs. 61,020 is distributed equally amongst 45 persons?

3R 61,020 . 457NN H SRR F7 WY o YA ! fobam <. el

Al :Rs. 1156
1156 3.

A2 :Rs. 1256
1256 2.

A3 :Rs. 1356
1356%.

A4 : Rs. 1456
1456 2.

NUMERICAL ABILITY AND REASONING
How many Kgs of tea powder will it require for 30 days, If a tea shop requires 45 Kgs of tea powder for 15 days?

%Wmaﬁwaﬁwﬁ‘—ﬁ%%qﬁ kgs T F1 TSR D] SR § a1 39 g™ DY 30 371 & forg fovam s sr
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91

92

93

90

91

92

93

Al:75Kg
75 fooam.

A2:80Kg
80 fop. 7.

A3:85Kg
85 fob .

A4:90Kg
90 ..

NUMERICAL ABILITY AND REASONING
How much did he sell the motor bike, If Mr.Sathish bought a motor bike for Rs 45,400 and then sold it at a loss of 15% ?

T A TP TP 45,400 T. T WAL TUT IADT 15% B W 99 321 | S8 H1 fasha Yo 9139

Al :Rs. 38,290
38,290%.

A2 :Rs. 38,390
38,390°%.

A3 : Rs. 38,490
38,490 %,

A4 : Rs. 38,590
38,590 .

NUMERICAL ABILITY AND REASONING

How many days will be taken to assemble 48 machines, If a mechanicfassembles 8'machines in 2 days?

i T Ao 2 o o 8 T=fiF BT arvaclt BRI & a 48 Rt 3rvaell B § foba fa e

Al : 10 days

1ofea

A2 : 12 days

12f&3

A3 : 14 days

14

A4 : 16 days
16 fa

NUMERICAL ABILITY AND REASONING

What 1s the side of square in cm, If the area of square is 961 cm??

Tfe; it o7 & 961 om? § A I B I om TaTSA?

Al :30cm
30 cm

A2:31 cm
31 cm

A3:32cm
32 cm

A4 :33 cm
33 cm

NUMERICAL ABILITY AND REASONING
What is the length of rectangle, If the perimeter of rectangle is 248 mm and breadth is 50 mm?

Tfe forddt 3mad o7 IRHATY 248 mm 3R ASTS 50 mm § Y 3 B AFITS S8 :




94

95

96

94

95

96

Al:70 mm
70 mm

A2 :72 mm
72 mm

A3 :74 mm
74 mm

A4 :76 mm
76 mm

NUMERICAL ABILITY AND REASONING
In how many years the sum of Rs.6000 amounts to Rs 6960 at the rate of 8% per annum? 1.0 0.00

6000 3. Y 8% I R T 6960 F. T H foraT1 THg T2

Al : 1 year "
1

A2 : 2 years
299

A3 : 3 years
3

A4 : 4 years
4

NUMERICAL ABILITYAND REASONING
What is the principal that earns Rs 300 as simple interest in 22 yeazssat 10% per annum? 1.0 0.00

o gaue &1 2% I8 | 10% aTNH & ¥ =TT 300 . TR

Al : Rs. 1000
1000 %.

A2 :Rs. 1100
1100 3.

A3 :Rs. 1200
1200 2.

A4 :Rs. 1300
1300 2.

NUMERICAL ABILITY AND REASONING

Wlﬁch direc;ion Mr.Basha facing now, If he walked 10 m towards east took a right turn and walked 15 m and again he took a right 1.0 0.00
turn and walked 25 m?

TfE SR 10 m & =M H B 15 m <10 FUT AR 25 7). <10 T gt 3@ S9! o= Fm 82

Al : South

EAl

A2 : North

A3 : South - West

gieor.ufam

A4 : West

NUMERICAL ABILITY AND REASONING




97

98

99

100

97

98

99

100

What price it should be sold to get profit of 10%, If a plot is sold for Rs 19,600 with a loss of 10%?

TS T Wie BT 10% B W 19,600 . T S 7T R @l 10% TATH YT B P 1T fpa- g TR =01 ST <1fey «

Al :Rs. 24,200
24,200 2.

A2 : Rs. 24,400
24,400%.

A3 :Rs. 24,600
24,600 2.

A4 : Rs. 24,800
24,800 2.

NUMERICAL ABILITY AND REASONING
What is the value for 75a — (-20a)?

75a — (-20a) BT HMH FAZA?

Al:-95a
-95a

A2:95a
95a

A3:-105a
-105a

A4:105a
105 a

NUMERICALABILITY AND REASONING

What is the value of 15 m> n*/ 5 mn?
15 m3 n*/ 5 BT A SARA?

Al:3m?n’
3m?n?

A2:3mn?

3 mn?

A3:3m*n’

3m*n’

A4 m? nd

3'm2ad

NUMERICAL ABILITY AND REASONING
What is the value of Y, If 13y2+ 9=1062?

Y &1 HF 9123, Tf& 13y2 + 9 = 10622

A3:10
10

Ad:11




Electronic Mechanic

-No. Correct Answer Key
1 A2
2 A2
3 A1
4 A3
5 A2
6 A4
7 A4
8 A3
9 A2
10 A1
11 A1
12 A4
13 A3
14 A1
15 A2
16 A2
17 A1
18 A2
19 A3

20 A3

21 A2

22 A3

23 A4

24 A3

25 A2

26 A4

27 A2

28 A1

29 A3

30 A2

31 A2

32 A3

33 A1

34 A3

35 A4

36 A1

37 A1

38 A4

39 A3

40 A3

41 A3

42 A3

43 A4

44 A1l

45 A3

46 A2

47 A2

48 A1

49 A1

50 A3

S.No. Correct Answer Key
51 A3
52 A2
53 A4
54 A2
55 A2
56 A3
57 A2
58 A1
59 A3
60 A3
61 A4
62 A3
63 A1
64 A3
65 A3
66 A4
67 A2
68 A2
69 A1
70 A2
71 A2
72 A2
73 A4
74 A3
75 A2
76 A1
77 A2
78 A3
79 A4
80 A3
81 A1
82 A2
83 A3
84 A3
85 A3
86 A1
87 A2
88 A3
89 A4
90 A4
91 A2
92 A2
93 A3
94 A2
95 A3
96 A4
97 A1
98 A2
99 A1
100 A2






